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QUESTION 1

How can moving to Cloud Computing reduce capital expenses? 

A. One can reduce the number of applications in use within the enterprise. 

B. One can reduce the number of IT staff in the datacenter. 

C. One needs less client computers to access the enterprise applications in the Cloud. 

D. One pays for the use of hardware, not for the value of the hardware at the time of purchase. 

Correct Answer: D 

 

QUESTION 2

What is an example of the use of location information? 

A. to determine the user\\'s native language 

B. to determine whether the user is connected via a mobile platform 

C. to provide advertisements for local restaurants, determined by GPS 

D. to provide the correct version of the application for the user\\'s operating system 

Correct Answer: C 

 

QUESTION 3

What is the single point of truth in a Claim-based identity management solution? 

A. the cloud application 

B. the Hypervisor 

C. the identity provider 

D. the server hosting the application 

Correct Answer: C 

 

QUESTION 4

What is currently the most common network topology? 

A. Hybrid 

B. Point-to-point 
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C. Ring 

D. Star 

Correct Answer: D 

 

QUESTION 5

How can a move to Cloud Computing reduce capital expenditure? 

A. It can reduce the number of applications in use within the enterprise. 

B. It can reduce the number of IT staff in the datacenter. 

C. It needs less client computers to access the enterprise applications in the Cloud. 

D. It pays for the use of hardware, not for the value of the hardware at the time of purchase. 

Correct Answer: D 
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